
i Xi (Modalità) fai Xi*fai faci fri frci fpi (%) fpci (%)
1 3 2 6,000 2 0,105 0,105 10,526 10,526

2 4 3 12,000 5 0,158 0,263 15,789 26,316

3 5 4 20,000 9 0,211 0,474 21,053 47,368

4 6 5 30,000 14 0,263 0,737 26,316 73,684

5 7 3 21,000 17 0,158 0,895 15,789 89,474

6 8 2 16,000 19 0,105 1,000 10,526 100,000

Tot 6 33,00 19 105,000 1,000 100,000
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i Xi (Modalità) fai Xi*fai Xi-Mp (Xi-Mp)*fai (Xi-Mp)2 (Xi-Mp)2*fai

1 3 2 6,000 -2,53 -5,05 6,38 12,76

2 4 3 12,000 -1,53 -4,58 2,33 6,99

3 5 4 20,000 -0,53 -2,11 0,28 1,11

4 6 5 30,000 0,47 2,37 0,22 1,12

5 7 3 21,000 1,47 4,42 2,17 6,52

6 8 2 16,000 2,47 4,95 6,12 12,24

Totali 33 19 105,000 -0,16 0,00 17,50 40,74
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y = -0,0207x2 + 0,1462x - 0,0316 
R² = 0,8453 
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